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Chapter 2

Linear equation — dball YAl

equations : — is a statement that expressions are equal

Example: —» x+2=q ,  1Mx=05x+06x

* What is mean to solve an equation ? st Jay ausiy 1iLe

Means to find all numbers that make the equation a true statement and
these number are called_solution or root of equation

Jsls D9

dagaia Aaleal) Jrad 2l 2ae V) aes dlagl s Elaleal) o 2l
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Example :- Solve  6x+3=27

Jslall s

& il s cagla 3 2acY) Jasd & (e g 8 bl Ladle puai Y
L) 13) 5 LEY) e ae Cash

o6x =27 -3 —  Janl Y 3 L) <yl

_ 24 _ 46x
=— 5 x=4—
6 6

The set solution = {4}

* Linear equation : = Fakadl) Aaladll

Is one variable — aaly paia A




ax+b=0

Example : —»which is statement is linear equation
1-  3x++/2 =0 —linear
. 1
2-/x+2 =5 ->non linear—» X = 0 il ol B
3-x2+ 2x+ 0.2 »non linear— x auw s o e i) oy

5 .
4- —+ 4 =2 ->non linear— 51 mus bl 1 slind; 135 ol o sl o

Example: » 3(2x —4) = 7—(x +5)
3.2x-3.4 =7-x-95
ox—12 = 2-x
Bx+x = 2+12

The set solution = {2}

1 72x+4
X
47 3 3




Ll 6 M) st e 3 s 55 Y Z+-—+Zx = Zx-—
olotllabiesds 3 3 2 473
1 1 -7 42x
LAY ywdsle) e ae il (8 i) gk Aol Lt =X - =X = — - —
" ) 2 4 3 33
-11/2 1 1
=224 2-2)x
3 \3 2 4
L)'ﬁ —_— — — — - —
12 - 3 12

The set solution = {—4}

CLaieY) b aa¥) 2 g all 138 8 dagall 405 3all
dabasll Vel g gl *
The type of linear equations : -
1- identity — if The statement0=0
w5 Js 2- conditional = if The statement x = number

o==i 3- contradiction— if The statement -3 =7

U‘a‘)l’-’ ) )\aj

s ddadll OV aleal) ) g i il Tas dage Alial

a- —2(x+4)+3x=X-8
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Capla 4l paiall 5 o yla 8 alac Y1 sliaallS Aabadd) Ja3 Y
>V s by esk -2X— 8 +3X=Xx—8
X—8 = x—8
X—Xx =8-8
0=0 - sV ALl my g
daaall alae V) e 8 Jall de sena 5S35 identity (oevss

Set solution {all real number} or (—oo, )

b- 5x—4=11
sx=11+4 -2 =2 =3
5 5
Jall de sena 13) a5 a8y Lt | 4000 Alall Ll ey 128
The set solution {3}
c- 3(3x—1)=9x+7
O%—3=9x+7
I9x—9x=7+3—-> 0=10
contradiction (b iz 138 10 sk Liall O dllaia

So the set solution 8 or null set or empty setor{ }

2 —1 e e cllatay) dlid

1- The solution of the equation




2 —2
T 2X 412X -1

Cba g (A O sk ol SV alaal) e g gl 138 A
2(2X+1)=2(2X-1)

4X—2=4X-2
4X—4X=-2+2
0 —-8X

—_ X:O_
-8 -8

So the set solutionis { 0 }

A8 iay piall Al Al 4sl iy 138 5 (0) dadl de sane () JasDl Ly

2- The solution of linear equation
4(5X+1)=-5-(3-20X)
20K+4=-5-3 + 20X
20X +4 =-8 + 20X
20X—-20X=-8—-4
0=-12 —» contradictionga_t=

So the set solution

Complex number —  4S,all dlacy)
Aol Cay s
Al




1- Complex number :- the set of real numbers does not
include all the number needed in algebra.

X2=-1 - Qb e gy

* The imaginary unit i « Lail ¢ 3l

Complex number — &S jall 2l

a + bi
il ¢l | L el

Real part Imaginary part

3i — pureimaginary & bl
Soif a+bi - a=0, b #0
So called pour imaginary number

hai e A5l ey 138 jiiall (5 gy sl ¢ 5al) 1))

Pour imaginary number .

The expression vV—a :- v—1 =i
- V=TI xa = V=1xva = ivav—a




Example :-
a- V=16 = V=1 x16 = V=1 x16 = i X 4 = 4
c- V=48 = /=1 x48 = V=1x+16.3 = 4+/3i

i «—— ¥ hint:-vV—4 . V=9 = 2i X 3i= 6i’= -6
|

v

N
]

'—\

1- V=7 A =T7 = iNT . iNT =i2.7 = -7

complex I AV U523 1358 s mode— 2 (e S Sy dsalall AV (e g

2- /=6 . /=10 = V-2.3 xV/=5.2 =
V2 AB3xV=I . N5 . 7 = Bx\Bx2i= V=1 —2V15

_20 ' - - . .
3- —— = V=2l bl e g alaall Gl & )
V=2 :
_\/—ZOX\/—Z_\/2X10X—1 ><\/—1><2_—4_1\/E_\/E el e
- V=2 V=2 - _5 -5 T daudall AV

Addition and subtraction of complex number

o C)L}S S yall Aacy)




(a+bi) + (c+di) =(a+c+ bi+di)

o ae il ¢ all 5 G s Biall o jal) pea 2

Example :-

a- (3—-4i)+(-2+6i)=(3-2+(-4+6)i)

b- (-4+3i)—(6-7i)=(-4—6+31+71)=-10+ 10 o ems

* Multiplication of complex number

G pia A8yl alacy)
(2-3i) (3+4i) =2X3+2 X 4i -3i X3 —3i X 4i
=6+ 8i—9i—12i°

6+ (-i)—12(-1)
lels oS

=6+(-i)+12=18-i sl YL
(a+bi) (a=bi) = a2 +b?
uASJ.L:J\ CA}OJM;Y\LJM\CAJJM\MMLQ
(3+4i) (3—-4i) =3°+4%> =9+16 = 25
lela
Newc Lol AL

3+ 20
5-1

a- Alall (3Uai) axdii ) guSl) Al 3




3+2i X 5+1 3X5 + 3i+2i X 5+2i2

5—1 5+1 25+i2

15+ 3i+10i — 2 13+ 13i 1 1.

= = =—4+-19

25+1 26 2

Slaiel) A ja e (5S35 Guoall 138 b degall 4 5al
Power of i

Sl Danlall VL Laalay) oSy Y15 3 Dl

ngdﬁaﬁaumjzlgsw‘w&@;

1- 1 - 0.25 - it = /-1
2- 2 -505-i=-1
3- 3 -5 0.75 - i3 =
Example :-
1- i®> 4
— 25 - it =4-1
24
1
2

2' 1 _ -11 _ 4 11 |3 ='i

1- The quotient

e i ileie it 2

3
in standard from a + bi

1+ 20
1—-1

el (Say
Loadall ANL

el (Sa
Lol AL



1420 I40_ IX1+i+20+2i2  143i-2  —1430

1—i * 14i 1+1 2 2
-1 3i
T2 2
J32V=2

2- - simplify the following & sl e

V-1 8Xx4xV-2 V-IxVAx2.Vax-2
8 8

_ix2y2.2x -2 4.2ixi _8i2 1
B 8 -8 8

3- simplify the following. 2% s Ll s

1 4 i 277

—1 1111
1108

3

277.75 24 e aud AV o

¢ 3all 138
o 558 ¢ 58y

s (g2 R 4—\
3)\..:}!\

4- ( -1 )2013 ( i )1435

358
+ 11435
(-1) (i) 41 a3
1432
—i =i Jul 3 - 3.4

3 AUl

el Say
Lodall AL



( -1 )2013 ( i )1435 = -1 X -i = +i

5- The expression(iv—4 )%in a simple form s b i s
(IV—4)? = o8V Jals il e 2§ 550

2(V=4)?=2(-4) = -1Xx-4 = +4

. _ . V=1/-2+/=3/-4
6- Simplify the following term s
_ixiv2 xiV3xiva | i4y24
= \/5_, i \/g
_1x2V6 el (e
==5 - 24/2 Adall AL

Quadratic equations — ey sl Al




Can be written in the form
ax> + bx +c=0
is called quadratic equation (( stander form))
doay il Adall Apulal) 3y gual)
Solve 6X? + 7X = 3 duulal s, peall U3 e g Al &l e Alilae Jn o
6X>+7X-3=0 6X? = 2X 3X
(3X=1) (2X+3)=0

3X—1=0 or 2X+3=0

3X =1 2=
2 2

X == X==2
3 2

sl AY) 2and g laolan) (S Lela die a3l A1)

mod - 5 - 3

a- X’=17 Cnolall il 3all 3aly




X=xv17

b- X?=-25 Gkl e il ial b

X=1£5i

C- (X —4)% = 12 gl o oalsill b bl g A il 34
X—4=4+V12> X-4=v12 or X-4=+12
X=vV12+4 or X=—12+4
X=74 or X=0.53
So the set solution { 7.4, 0.53}

;éﬁﬁmdﬁ@&\&;)ﬂ\wgi@jaqu&m *
S NEENA | |

. (Completing the square) <!l JWS| -2

.( Quadratic Formula ) alall &5l alasinly -3

RRETREN T NREG g |

Example :- Solve the equation using the completing
The square .

13
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a- X>—4X-14=0

«— X°-4X=14

q\xf\]\ez.j
}“—a)l“:‘ P 1 . .
ol & paial X—4X+4=14+4 5 (s o b 4wl X Jalae 2808
5 LY slel e aa L . bl b 5 4ny i
X2-4X+4 =18 (%x4)2=(2)2=4
(X-2)*=18

b- (X-2)* =18

X=4+/18+2 V18 =4/9.2 =32

The set solution is { 2 + 3\/§}
5 3o mode  dudall AV A g dlalaall Ja dla) (S

. —hah2—
oﬁm‘ﬂsh;a—ﬂ D — b+Vvb“—4ac

2a

Tan pge ( Discriminant ) Jeall iall Cndile o s

b? — 4ac

Example :-

3 —
X*+8=0 Aai Ul 43 Al Lia
Sull ) gl aladiuly cuassl)

——

14

—t




(a3+b3)=(a+b)(a’—ab+b?)

(X+2) (X*=2X+4)=0 Gl aals Llas dua 5 A
LiAS 8 g Lid g dilid)
X+2=0 or X-2X+4 T T
RESUPY

X=-2

a=1,b=-2,c=4

i GOk V(=2)2 —4(1)(4)
B 2(1)

=X zlii\/g

The set solution { —2,1+i \/§}

:QU&Y\&&EJ o) 138 8 dagall 4 )

— 69— Jsan A J sl g sy Jslall 2e 54

15
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Jnaal Jlall axe Jslal) g 53

Discriminant Number of solution Type of solution
Positive , perfect square
JalS @ e 5 50 nedll Two Rational

V9 =3,V16=4V4 =2

Positive but not perfect

square Two Irrational
JalS el 5 a5
, V12 , V105
Zero One ( double solution ) Rational
Negative Two Non real complex
e

Example :- 1as age > —69—a

Determine the number of distinct solution and tell
whether they are rational , Irrational , complex number

a- 5X2+2X-4 b- X2—10=-25 c- 2X*°=-X+1=0
b? — afcséb_zz X2— 10X +25=0 a=2,b=-1,c=1

= /)7 —4(5)(—4) a=1,b=-10,c=25 V(=12 —4(2)(1)

=+/84 —Positive and =O\/(—10)2—4(5)(25) =v=7 Negative

perfect square # of solution = 2 type

of solution Non real

# ofsolution( one ) type
# of solution tow type of of solution Rational le [

<nlution Irratinnal complex

1- Factor 2X?+3X-—5 aull daled) Jal s




Aadall Y sk e ol Aalud) 30N 5kl aab laalay) (Say *
(X=1) (2X+5)
5 . st s
X=1 ,lxz_z‘éms@m\guw\@

5 LAY s l } oMY ose
(X-1) (2X+5)

2- Use the quadratic to solve this equation

alasid alall ¢ 53 Jal ol Usladl)

4X2 -3X+3=0

Jdall
a=4,b=-3,c=3

_=(-3)+/(-3)2-4(®)(3) _ +3+V-39 _+3 ii\/@x —~b+Vb2—4ac

2(4) 8 8 2a

3- The set solution of -27X=X3—-12X? is
X3=12X?+27X=0
X(X2=12X+27)=0 & ide dole 2al-: Ja)
X=0 or X2-12X+27=0 4L
(X=9) (X-3)
X=9 X=3 -  Thesetsolution{0,3,9}
4- The root of X*=5X+2 are

Asld) 30N 3Lkl o Sy Jad Factor set solation b Alls & =1 Jall
sl AV Jad) e 28U 25 e g aladl () gilal) aadcin) Caogu Ui g

17
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aX? + bX + c=0 il 5 pall i leai Y ¥

X2-5X-2=0

_ —b+vbZ-4ac _ —(-5)+,/(-5)2-4(1)(-2) +5 £ V33
X = 2a - 2(1) 2

5- What are the factor of this quadratic ?
8X2—6X-5=0
mode = 5 — 3 AV 8 Gy il Aaleall Jol o ale

(4X—=5) (2X+1)

Inequalities — <lubidll

18
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less than, > — greater than <-—
less than or equal , = — greater than or equal <-
'; '; !~ )\A**
Aaliial oladl yai (il 2ae e Gandll i o juall die

Y alaall slonsd 48 jaa aga

ax+b>0- or 3X+4<0
(( Aok dbie Lel ey 138 (51 A all e dilia )) Al
3X+4 <0 - linear inequality

Solve —-3X+5>-7

—3X>-7-5
-_%: > __132 Aalaal olas) e (il dae e Liand
X<4
oS3 interval notation sl (sl 81 JSE Je Jal de gasna Jiadl g
4 e IV MYl pea X o g X < 4 g\.ﬂl&

Led s A site Leil amd 8 sluse Aadle (s Aliial) () oS5 Ladie -1

(-0, 4) > < D el

N & ;
« > o gena S Graph or Aac Y las le
4
{x|x < 4}

19
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Type of

interval Interval notation
Open interval -
A sidall 3 il {x|x > a} (a, ) ) N "
a
Open interval {x|]a < x < b} (a,b) —l—>
da siaal) 3 yall a b
Open interval {x|x < b} (-0, b) < > >
da gisall 3 yial) b
Closed interval {xl]a<x<b} [a,b] —F 1,
a b
Disjoint interval {x|x < aorx > b} (—o,b)or(b, ) « > —
a b

4-3X< 7+2X

20
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-2X=-3X<7-4

X _3 L ys13

( set, interval notation or graph ) J<il 3 e Ll
1- Set {x|x > :—i}

: : -3
2- interval notation [?, o )

3- Graph < B >

-2<5+3X<20

5-2<3X<20-5
e T TS
Sste Aendly 3<3<3
_?7<x<5

The solution in interval notation (_?7 ,5)

** Quadratic inequality :- dew s i)

aX?’+bX+c<0

21
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Example :-
Solve X2-X-12<0
Alall o el gl dunlall AVL i3 5 Lelal ge ) Al Jalay o 552 Y
X=-3 , X=4

Jac) Jad ans yi Jall dadaie paail s Wil
A B C

I
-3 4

»
»

A

o 330 dalaiall 38 48 j2al g (A, C) 5l B 0S8 o)) el Ja) dlaie ; TG
Nl aad 5 a5 s Aalaall 81 gai g dilaie S 8

1- A-((-5))  —=(5)°-5-12<0 = 8<0 _ihw ,eds
2- B> ((0) < - (0)2-0-12<0 » -12< ik s

Blsbie ol Auliiall (Y dagide @il ji (-3, 4) B & Jall dilaia 13

Solve :- 2X2+5X-12

Ayliall Julaty o 685 -1

22
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x1=%=1.5 Xy =-4

daey ba e Jall dddaie st 22

A B C (00
< I I >
4 15
C,B, AdS(wad3 juss -3
s
A=-5- o 5 2(5P+5(5)-1220- 1320  kid

B=0 > 2(0)2+5(-5)=12>0 > -12>0  iku e da
C=3-2(3)2+5(3)=-12>0 > 21>0 ibwds

C, A A Jall dikic 1y
X<-4 or XZ%
So the set solution («,-4] U [g,“’)

ot;)mu_s\).ﬁ ’OO—OO.J..LCLA:’\.JJ

** Rational inequalities :- 4wl dslad)

e g da gl S JS5 e 588 il A

23
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2X—-15 .
, 1S 5y - e

3X +4x+4

Solving ﬁ > 1

sanl s dga (8 2 soall aren aai A il JaI Y -1

5

— =120
x+4
laldall aa g3 =2
(1)=*5 _ 1*(x+4) N 5-x—4 >0 = -x+1 >0
(*x+4 1+(x+4) X+ 4 X+ 4

Shaally aggbi 5 aliall g Javad) 320 o5 e -3
-X+1=0 or X+4=0
X=-1 X=-4
X=1
Aacl lad e an )l el g Jall dalaia 33a5 -4

A B C

A

v

= 38 B (e Al (a yisily C, B, A ddhie 8 4l yibl a8 AL -5




-

o

5
> >1— >
=1 - 12521-— =1 s
So the set solution in interval notation — (-4, 1]
¢ Aalaa s yi8 ] die g da gide 3 51 -4 Ao die 13l Taa daga Adaa Dl

Walesind cany L5 o yra e plaall Juad -4 oY clld *
58l ae g caad fi53 Y 1 4w 5 (excluded)

laa g Oladal J) g **

. 3x +4 .
The set solution . <0 is

Al 5 gladll Jains il sasl 5 dga (A il Y gues of ani Lia Y
Sheally 4gsbd 5 lially snally 4y slasi 5 ) 331

3X+4=0 or 2X-1=0

2 _2 2X = 1
e e dila 3 3 G pliall dad
gmg\hw\ — Xz_—4 X=- > Z‘AJSM°JJS¢“AJ
3 laaic
A B C
< | | >
N 1 —4 !
s 5 -2 LA (i 3 2 X=3 Cad
Al Z 0 a
Aiiall (2 X—OL()é),)s" 3(3) + 4<0
3(—=2) + 4 . 300)+ 4 sihie da _ 1=
CH-150 *=%0-1 =" A=
B o Jall dikic 13 sihie e da
04<0 i s i
. ! So The set solution [ —, = '
sihie e Ja [342); <l




1- Write X<-4 or X=4 ininterval notation

g o) Y dapa e
o4l YL JUK interval notation dasa e oS3z Jall

4 e IV MY e X <-4, X224 & 4 e oSV SaeY) pan

— 00

(0,-4)U[4, o) ./ // 77 P

»

-4 4

2- Solve 6 <X—-2<14 and Write inter notation
+2+6<X<14+2
8<X<16 - X<16 , X=8 inter notation (16, c0)[8, o)

3- Which of the following represent X<-5 or X>1

—00 (00)
—l / -

J \ "

-5 1

d
<

4- Solve -3(X+4)+2X<6
-3X—-12+2X<6

-X<6+12

-X 18
< —
-1 -1

X>18

(-18, )

26
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